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01 AL =S F=HI 8,555 3,600 4,955
OYRE 2Hl S 8,555
= 4,278
Al 1,283
- 2,994
FdZF FHOISHS 91,240 84,042 7,198
= 45,620
Al 13,686
- 31,934
101 e124d| 91,240 0 91,240
= 45,620
Al 13,686
- 31,934
04 JIZtN2Z2 XS 2 91,240 0 91,240
OALRF 0lsH5(49) 91,240
= 45,620
Al 13,686
- 31,934
A= X AHIALS 741,670 291,984 449,686
101 ©1AH| 685,210 247,158 438,052
M ORNZZ2NSE S 685,210 247,158 438,062
OXE 252 (3BH) 667,710
IRQI(F oF £ Ta)
84,3033 x35Z x 1956 575,368
-=QH3SEE=E 575,367,980 *4. 5% 25,892
=UALEEE 575,367,980 +3.545% 20,397
-UEEEE 575,367,980 *1.75% 10,069
“MHEEE 575,367,980& %2 15% 12,371
- QRYREIRES
575,367, 9801 +3. 545+ 12. 81% 2,613
“HENOID, SXEIE
300,000 35 *23] 21,000
OUEYRER 22=(Ue) 17,500
-2 R=(4, 5t 250,000& x35H 8,750
-4g dat= 250,000 «35% 8,750
201 ger=3| 55,560 43,926 11,634
01 At 2|l 30,358 28,063 2,295
(@F5—3="UNEDNDN Endel 7,250
-2 15,0002 x200& 3,000
=t 30,0002 *50H 1,500
-RAS A 2kt 100, 0002 * 1074 1,000
-=4S 5,000& x50 H 250
-2% 5,000 100K 500
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A SE>=X1
M Mg SEMol e 23t & A=0IE 243t
Rl ARISTH AbRS (ctol: &
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
= 640
Al 288
- 672
01 ML =SFSHI 1,600 4,000 A2,400
OtXg f87] 1,600
= 640
Al 288
- 672
I 2Z 7,920 11,750 A3,830
= 6,289
- 1,631
301 LBENSF 7,920 11,750 23,830
= 6,289
- 1,631
10 A ERRRJIELZ 7,920 11,750 23,830
OMNZ=RABAZ(1Y) 7,920
-39, WSl 6,289
= 6,289
-SA4lH| 1,631
AXITHOH ?IEl= &I 50,000 50,000
401 AIEHIL20HYI 50,000 50,000
01 AlEHI 50,000 50,000
OLHRI W THoHRIE = JHI 50,000
AZSXSHA RE L 2 (H2)(KH) 19,400 2,600 16,800
= 7,760
Al 3,492
- 8,148
201 Ler2 | 10,900 2,600 8,300
= 4,360
Al 1,962
- 4,578
02 E324Hl 10,900 2,600 8,300
OUSHEZHAIAE 2,600
= 1,040
Al 468
- 1,092
Ot 2 ASAIE RRE+ 8,300
= 3,320
Al 1,44
- 3,486
405 KHeHE S| 8,500 0 8,500
= 3,400
Al 1,530
— 18 —




A SE>=X1
M Mg SEMol e 23t & A=0IE 243t
Rl MEETH ALY EER=E)
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
- 3,570
01 IR =S FSHI 8,500 0 8,500
OJIH 2o S ESA| A E 8,500
= 3,400
Al 1,530
- 3,570
F0l=1s 2H(XA) 85,998 66,000 19,998
= 42,99
Al 30,09
- 12,900
307 QI2tol M 85,998 66,000 19,998
= 42,99
Al 30,099
- 12,900
05 QIZtRES 85,998 66,000 19,998
OR0tzws 22 29(3%) 85,998
= 42,99
Al 30,099
- 12,900
AE2THHUS (MEXEHE AXED]) 138,720 138,720
308 REXISHMSOIH 138,720 138,720
07 XXIEtH2t R E = 138,720 138,720
O¢t28stE IRt 138,720
HY A AU (SS=X1) 414,654 400,477 14,177
olE2H| 334,127 319,950 14,177
ol 23| 334,127 319,950 14,177
101 @124t 323,733 313,374 10,359
03 SR (RIAHY)Z2ZHE> 323,733 313,374 10,359
oJlEs 3,491,300& 5« 1201 & 209,478
O 3,120
“tEE ()
40,0002 +5E* 1201 = 2,400
-ESZH(SMOl A
60,0003« 1E* 1200 & 720
O=c|= 4| 13,966
~HESIHI 3,491, 3002 »80%*5L 13,966
Ox22Y 87,119
-AIZte] 22
28,2853 x 150%+8A| 2H+5H« 124 & 20,366
-5Y2FE
28,2853 * 150%*4A| 2H+52 2«58 44,125
EUPNES ST el
28,2852 x8A[ 2202 5 22,628
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£A: SRS
. HY2IHH(S=X1)
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OL=zgH=sU3a K&
30,000 *13]+5H 150
Otetial XI& 30,0002 x23|*5H 300
©=21:] 20,0002 x5H =124 & 1,200
OBL(2IHL)2RX FAZAY
140,000& * 1201 & +5H 8,400
201 B2 AY| 3,760 3,760
01 AtR2telt] 2,800 2,800
OF2H(RIIAH) 22X TI=Y| 2,800
22544 =) 250,000 *5H 1,250
-gists 250,000 *5H 1,250
223 (&Y, otME}
60,0003 *5H 300
® ZB2Y| 960 0 960
OB (IINY) 22N 2K B2
20,0003 x4H =124 & 960
303 ZAS 6,634 6,576 8
02 43 6,634 6,576 58
O8uman32 3,491,300 *38%*5H 6,634
234l 80,527 80,527 0
J|123&H| 80,527 80,527 0
201 L2 AH| 19,807 19,807 0
01 AtR2telt] 19,807 19,807 0
O=AEX 7 20,0003 #6002t A 1,200
OEH ¢ 4,235
= 385,000& %53 1,925
~2ZetIely 462,000 *53] 2,310
OARI1I] SXIE==t| 500
ORNM2II 28|
20,0003 =178+ 12& 4,080
OAIRII 2R AH=4lH|
8,000& x6AIx17H+12& 9,7%
202 44| 57,120 57,120
01 =2LHO4 ] 57,120 57,120
OZLH0oYI 280,000& x17H +12& 57,120
203 PYRF=&Y| 3,600 3,600
M 2GR FALI 3,600 3,600
ORNSIHRFEY|(2021015t)
300,000& =123 3,600




